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28R ®4B:11A138. 118208
F— L% WIZARD NUAGE <) /95TV ELEBEL HTC HH B X = B
Ol2 — 1 o — 2]|]0|3 — 0|O|3 — o0 f5ER 3 — 1 ]2
Noll|4 — 6 |No1| 0 X 0 [No1|6 — 1 [Noti|6 — 1 || B%#qr [8 — 3|5
WIZARD | N\ e b bbb 1
No2| 6 — 5 [No2[ 1 — 6 [No2| 6 — 1 |No2| 6 — 4 /&y —L |57 — 30 |27
No3| 6 — 0 [No3| 4 — 6 [No3| 6 — 0 |No3| 6 — 0 || B%xsy—rx 0.6552
x|1 — 2 2 — 1|03 — olol2 - 1 BB 3 — 1|2
No.1| 6 — 4 No.1| 6 — 2 [No.1| 6 — 4 [No.1| 6 — 0 BERERAUH 8 — 4 4
N TN = e e I N T e O CLLrt) CRITEETERRIER 2
No.2| 5 — 6 No.2| 6 — 5 [No2| 6 — 3 [No2| 6 - 3 /Ry —L 50 — 5019
N3l 0 — 6 No3| 2 — 6 [No3| 6 — 5 [No3|l 4 — 6 | Bxr—L= 0.5413
Ol2 — o|x]|1 — 2 1 — 2| x[1 = 2 0 1 - 3 |-2
 INetl 0 K 0 [Noil2 — 6 Noil1 — 6 [Noi|5 — 6 || @&kKsor |5 — 6 [-1
RO A A R R L E e I N e B o : 5
No.2| 6 — 1 [No2| 5 — 6 No.2| 6 — 0 [No2| 6 — 0 /Ry —LA 50 — 43| 7
No.3| 6 — 4 [No3| 6 - 2 No.3| 2 — 6 |[No3| 5 — 6 BET—LER 0.5376
x|lo — 3|x|o — 3 2 - 1 Ol2 - 1 BsEK 2 — 210
Noil1 — 6 [Not| 4 — 6 [Not|6 — 1 Nol|l 6 — 4 || B&®ksor |4 — 8 |-4
< A e R e e st I N e B : 3
No2| 1 — 6 [No2[3 — 6 [No2|O — 6 No2| 6 — 2 /&y —L (38 — 57 |-19
N3l 0 — 6 [No3| 5 — 6 [No3| 6 — 2 No3| 0 — 6 || B%sy—ix 0.4000
x|lo — 3 |x|1 — 2 9 = i 1 - 2 BB 1 — 3 |-2
Noil 1 — 6 [No1lO — 6 [Noi|6 — 5 |Noi| 4 — 6 ‘EAR v |4 — 8 |-4
(S} (O SNN SEPPH| SOPPEPPFEPRFEORRRS EERRS EECPFEPPEEUPEERRE! BEEDE PRSDREEPPFEEPRFEDRY DEREN! DEFERREEORFEPRRED 4
No2| 4 — 6 [No2[3 — 6 [No2lO — 6 |No2|2 — 6 ‘B&y—L |38 — 62 [-24
No3l 0 — 6 [No3| 6 — 4 [No3| 6 — 5 |No3| 6 — 0 B —LE 0.3800
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